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32
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PCDDs PCDFs Co-PCBs

(pg/9)

14 18

0.78 0.82 0.76
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2.2%
COD <0.5 32mg/g

0.4 13%
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0 5 10 15 0 5 10 15 20 25
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COD(mg/q) mg/kg
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3 (r9/9)

PCDD R PCDF R Co-PCB R
1,3,6,8-TeCDD 0.69 ]1278-TeCDF 044 134.4'5-TeCB(#81) 0.85
1,3,7,9-TeCDD 0.62 ]23,7,8-TeCDF 0.59 13,3'44'-TeCB(#77) 0.81
23,78-TeCDD 047 11.23,78-PeCDF 0.87 13.3'4.4'5-PeCB(#126) 0.88
123,7.8-PeCDD 0.81 1234.78-PeCDF 0.91 ]3,3'44'55'-HxCB(#169) 0.88
1,2,3.4,7.8-HXxCDD 0.70 11.2.3.4,7.8-HXCDF 0.58 2'3.4.4'5-PeCB(#123) 0.68
1,2,3,6,7,.8-HXxCDD 0.77 11.23.6,7,8-HXCDF 0.89 12.3'44'5-PeCB(#118) 0.70
1,2,3,7,8,9-HxCDD 0.70 11,23,7,8,9-HXCDF 0.53  12,33'4,4'-PeCB(#105) 0.80
12346.78-HpCDD 0.72 123.4.6,7,8-HxCDF 090 1234.4'5-PeCB(#114) 0.78
OCDD 0.78 11.234.6,7.8-HpCDF 0.84 123'44'55'-HXCB(#167) 0.69

1,2,3,4,7,89-HpCDF 0.77 _|2,3,3'4,4' 5-HXCB(#156) 0.69

OCDF 0.80 123.3'4.4'5'-HXCB(#157) 0.65

2.3.3'44'55 -HoCB(#189) 04

PCDDs 0.78 |PCDFs 0.82  ]Co-PCBs 0.76
PCDDs + PCDFs + Co-PCBs 0.88
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